H & 0l & AHS B Ml A

20243 =0l LB SetMs2E= 2024-02-02 09:55:40

A= FIHs2HE= 2N 1 23t0=A
M F3ll=s Y
tel: 2= Xd 243t (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
s = 283,534,298 288,260,328 24,726,030
= 82,013,572
s 46,958,100
| 26,095,102
& 128,467,524
Z3t0l= ot it 83,879,127 93,798,564 A9,919,437
= 19,447,818
s 11,496,000
| 9,223,401
s 43,711,908
Fatols &< 50,523,915 61,985,491 211,461,576
= 1,903,607
s 11,496,000
| 7,487,620
= 29,636,683
Z0=X2 43t 16,514,585 19,597,503 3,082,918
= 261,527
s 10,523,000
& 5,730,058
58 HPAE XA 172,000 184,000 A 12,000
308 AXIHMSO0I & 172,000 184,000 A 12,000
13 BI 12 S0ICHEH B A X LAE AL 172,000 184,000 212,000
O==8 A3AMY 172,000
A=Y EHWeHE DALY 378,000 0 378,000
s 315,000
= 63,000
403 XX SHHSKHE01 A 378,000 0 378,000
= 315,000
= 63,000
01 AtXIEtHAH22 £ 378,000 0 378,000
OAM=Y EHUHE Z&ALS 378,000
s 315,000
& 63,000
S A0S AL 1,416,000 2,319,600 A903,600
s 1,180,000
& 236,000
403 XX SHHSKH=01A 1,416,000 2,319,600 A903,600
s 1,180,000
= 236,000
01 AXIEtH 22 £ 1,416,000 2,319,600 A903,600
Os2d ZE X002 TEAMY 1,416,000
= 1,180,000
& 236,000
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F MM - BES of v G o HIDE2

—

,291,200 5,439,600 A4,148,400
,076,000
215,200

Mo

—

,291,200 5,439,600 24,148,400
,076,000
215,200

SRR

1,291,200 5,439,600 A4,148,400
A 1,291,200
,076,000
215,200

SRR

N

,168,400 1,773,600 394,800
,807,000
361,400

Mo

N

,168,400 1,773,600 394,800
,807,000
361,400

SRR

N

,168,400 1,773,600 3%4,800
,168,400
,807,000
361,400

FA
0x
=
1
N

SRR

1,800,000 1,903,200 A103,200
,500,000
300,000

Mo

1,800,000 1,903,200 A 103,200
,500,000
300,000

SARNEY

1,800,000 1,903,200 103,200
1,800,000
,500,000
300,000

SRR

960,000 0 960,000
800,000
160,000

SRR

960,000 0 960,000
800,000
160,000

Mo

960,000 0 960,000
At 960,000
800,000
160,000

Mo

600,000 1,242,000 642,000
500,000
100,000

SRR

|
nNo
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A= FaMsZE= 2N 2et0is A
3 2otz &
tel: 2= Xd 243t (SH9 H2)
A= 2A - 3. SR(3) - MIRAY - BES Off &K %E% HusZ
403 AXIEHMSAH=01& 600,000 1,242,000 AB42,000
= 500,000
S 100,000
01 MXISHAEER 600,000 1,242,000 A642,000
O=20tsd |RELO ZHAHS 600,000
= 500,000
(= 100,000
ME ojg&o0ts REAMY 600,000 1,848,000 A1,248,000
[ 500,000
= 100,000
403 AXIEHHSAH=0lH 600,000 1,848,000 A1,248,000
z 500,000
S 100,000
01 XIXISHHIH=E E 600,000 1,848,000 1,248,000
ON& gFalite gAY 600,000
= 500,000
(= 100,000
g2s YA W2 ZHAME 600,000 360,000 240,000
[ 500,000
== 100,000
403 NI EMS =01 600,000 360,000 240,000
z 500,000
= 100,000
01 X SH A=A 600,000 360,000 240,000
Ogs ol BN LA 600,000
s 500,000
S 100,000
22 et IR THAY 1,014,000 0 1,014,000
Fas 845,000
= 169,000
403 THAIEMS =01 1,014,000 0 1,014,000
[ 845,000
== 169,000
01 MXISHHA =2 1,014,000 0 1,014,000
O22 2shite FR222Z ZEMY 1,014,000
z 845,000
= 169,000
FSTAl 24 1,950,000 1,950,000 0
= 1,500,000
(= 450,000
308 XXM SO0IH 1,950,000 1,950,000 0
Fas 1,500,000
= 450,000
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EH91(B121) - MSALY - B2 of v G o HIDE2
L2SsH 24 18,000 20,000 22,000
308 KHXIEHH 18,000 20,000 22,000
01 XXIEH 18,000 20,000 /2,000
o=Z=ss 18,000
SEUHEES0I 9,000 9,000
307 gl2to| & 9,000 9,000
04 QI2HU AL 9,000 9,000
(OF=3=18 9,000
SHE=&Ee 25,251 25,268 A7
201 22 d 25,251 25,268 A7
2 352g 25,251 25,268 A7
O&3323 13,040
OAIE&H 12,211
ES=20= 162,970 151,770 1,200
307 elzto| & 162,970 161,770 1,200
05 212t =S 152,970 151,770 1,200
Os=s2stssl2 24 162,970
SSEIMNY 28 NE 2,032,313 1,583,353 448,960
306 E¢= 2,032,313 1,583,353 448,960
01 £g= 2,032,313 1,583,353 448,960
Os=:22 2,032,313
=ot0ls2te & 81,750 120,500 A38,750
1 2et2dl 31,050 34,500 A3,450
01 At2tltl 31,080 34,500 A\3,450
Oogetd eS| 20,700
O=30=&Al S2a4 9,000
OZs=HA=E S 2] 1,350
203 =] 50,700 56,000 A5,300
03 A=A 2= 50,700 56,000 /5,300
OXN 2 =HAL =X 32,700
O22t2ZN LAY =& 4,500
O=2z & =3x8 =4 13,500
a8l 365 AFE 570,000 570,000
08 XtXIEHXIS0 570,000 570,000
=P 570,000 570,000
570,000
100,000 70,000 30,000
100,000 70,000 30,000
04 QI2FEH ALAF 100,000 70,000 30,000
100,000
10,492,844 20,322,284 29,829,440




A= Sd=s2E= 25 0 Sgol=atg
. 2oz #Y
el 2 gEet 25 & 2= |4 EER=E)
AR 2N B . O9(3H) - NBAY - BES ol by dE= HDS2
d=-FA-3858-8 = = 0l &+ 2
rag 973,000
& 9,519,844
SHAFE CI ARl CHAMA 27,000 27,000 0
307 2I2t01™ 27,000 27,000
04 CIZISHAAIE B & 27,000 27,000
OHMI213| SHAHCIAIR! CHAA 27,000
g2t 2 Ol 243 45,000 50,000 A5,000
308 AXISHHSOIA 45,000 50,000 A5,000
01 AIXHMEANEEZ 45,000 50,000 A5,000
Otz & Ol 243 XA 45,000
2ol 243 HERA 2= 150,000 200,000 50,000
307 S1Zto| ™ 150,000 200,000 A50,000
2 QI2ZFEEAMAIEE X 150,000 200,000 50,000
O2s&lils 43t HERKZa 2= 150,000
HE=MSSASHM XI& 500,000 500,000
308 AXIHHSOIA 500,000 500,000
01 AIXHHMBAEEZ 500,000 500,000
OHM203 M&E=2HSLIGSH(UE) 500,000
Ectot E3t MEX 9,000 25,200 16,200
307 2I2t0|™ 9,000 25,200 16,200
02 OIZIEAAIH B X 9,000 25,200 A 16,200
Ootrkd Asgt =HA '"CHH' 9,000
== D=0 2HAH 360,000 360,000 0
308 AXIHHMSOIA 360,000 360,000
01 AXISHNEAEEZ 360,000 360,000
Os= 2 =320t 2 (HE) 360,000
FEIRAA S2EHHI |2 2 () 400,000 400,000 0
308 AXIHHSOIA 400,000 400,000
13 ST 2SO CHSZ A X EAISHI 400,000 400,000
OX2HIRAMAS S HED S 2H(UH2) 400,000
S Z0F Al FAFEIREY =& 45,000 50,000 A5,000
308 AXIHHSOIA 45,000 50,000 A5,000
13 37| 2SSt EAEHIEAIS DI 45,000 50,000 25,000
O23arHZ0F Al FAFZINE =& 45,000
AX22l0F HAEIY 270,000 270,000
308 AXIHHMSOIA 270,000 270,000
01 AIXSHHEAERZS 270,000 270,000
02024 & X2 < A 270,000
XM UICHE 14,580 16,200 N 1,620
308 AXIHHSOIA 14,580 16,200 N 1,620
01 AXISHNEAERZ 14,580 16,200 1,620




AR 2EHSBYR SN 250 sA D
MY 230z Fo
el 29 olmedt 1% 2 2= |4 (Gt H2)
AR R BB B(3H) - MBAY - BES 0l arey a8 TimE==
S=cTACSS-E T < - Ol &4 se
| Omi21al AAOICHA 14,580
eAZ= [H3] HE L =0t 27,000 27,000
308 XX HHISOI® 27,000 27,000
13 2|2 SOITHE I AR EFALRA ] 27,000 27,000
OE2 e ATX[}3 27,000
NH 251015512 2 (FEAIY) 2,500,000 4,000,000 1,500,000
403 XX SHI S K20 & 2,500,000 4,000,000 1,500,000
01 XX SR =L 2,500,000 4,000,000 1,500,000
OXH 23032 A 2,500,000
HECAHZ NESY 49,934 51,934 A2,000
201 LEr2 | 40,934 41,934 21,000
01 Al 22lt| 9,000 10,000 1,000
OB AL 2| 9,000
®2 2229 31,034 31,934 0
OESCHBESRINAY XL 31,034
405 RHAHE S| 9,000 10,000 A1,000
® AR 9,000 10,000 1,000
ZSA0HEADZ MUEA 2 9,000
DYCAZ A XY (MBAIY) 3,045,000 12,499,750 N9, 454,750
403 KHXISHI S X201 & 3,045,000 11,499,750 N8,454,750
01 XX SRS E 1,045,000 11,499,750 10,454,750
O2F HA - A SHHE ZRCAHZ 2
2 1,045,000
02 2| 2-SOICHEH K= X 2 EF AL B 2,000,000 0 2,000,000
OOt ESCYHEC AR HE 2,000,000
DRCAZ JRAIZ HE2Y 1,459,500 1,273,500 186,000
) 973,000
= 488,500
308 XHXIEHHIS 0| & 1,459,500 1,273,500 186,000
2 973,000
< 486,500
01 IXISHHBAEE2 1,459,500 1,273,500 186,000
OR2TAHZ N2 RS 1,459,500
2 973,000
= 486,500
o A X 36,000 40,000 4,000
308 XX SHHISOI® 36,000 40,000 4,000
01 XX CHRIZAE X2 36,000 40,000 4,000
ORSTHZ TARL] 36,000
019 BHEHE MAIZ 25 76,680 85,200 18,520
308 XHXIEHHIS 0| 76,680 85,200 18,520
01 IXISHHBAE X2 76,680 85,200 18,520




4= 2SR 2A : 2s0lsaYDL
Iu: 230z 2Y
&l 23 elxet 2= 2 FEHX |54 (EEEE))
A2 RA - F- . O9(3H) - ARAY - BAS O &kt A Hms2
| Oobigt efste A 25 76,680
2OIMSORE MHIA ] X1 3,150 3,500 /350
201 eet23| 3,150 3,500 2350
2 s=s=34l 3,150 3,500 A350
OISR MbI2 Sbibl X & 3,150
2sil= cgdE=s MY 45,000 50,000 /5,000
308 AXIHHSOIA 45,000 50,000 /5,000
13 S 2SO &4 X 2AS A 45,000 50,000 /5,000
oSz 21YES A 45,000
SHESC2HXDGXAHH 2E(HE) 330,000 0 330,000
308 XXM SOIA 330,000 330,000
18 2| 2SO Th S+ A E I EAIH| 330,000 330,000
OBHSTZEX) AN AME 28(HS) 330,000
SHZYUSD AR (TEAY) 1,050,000 1,050,000
408 TXI SIS KH20I & 1,050,000 1,050,000
01 AXIEHHA 22 % 1,050,000 1,050,000
SHZUSB A 1,050,000
SS0EAEH(OLE) HE 50,000 50,000
207 ARl 50,000 50,000
01 A S| 50,000 50,000
OZS0IEMEOIE) Jl=He 89 50,000
Sol2stee S 105,000 1,505,000 1,400,000
So2stay st 105,000 105,000 0
307 glztol & 105,000 105,000 0
05 QI2teIEtE 105,000 10,000 0
OB=ZUBUA Iz 28,000
OZ0IQ! WS 0PHEI0I HE 10,000
OS+T0B N N 27,000
OS+Z0IE S - BHT SAYAY 40,000
23ttls S 23,411,486 20,560,704 2,850,782
= 1,642,080
Il 7,487,620
T 14,281,786
F=llz2dg 23HIXEH 270,000 270,000
308 AFAIEHMSOIH 270,000 270,000
01 MRS SExXS 270,000 270,000
OFF0lsANY 22| X 270,000
=83 FHES A2 747,500 1,639,067 891,567
307 elztol & 228,500 258,500 A30,000
04 QIZFHAIALE 2 2 228,500 258,500 30,000
OBH=E 01203 90,000
OBF=C AR ©Y3 16,200
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A= Sd=s2E= 2AN : 2ol AtE
Nz 2oz =Y
&el: 23tils SEXE (St &)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
24 23| XN 121,830 118,870 2,960
307 21Z2t0| ™ 54,000 46,000 8,000
04 CIZISHAIAIH E X 54,000 46,000 8,000
OCBEAF J1E€523) 10,000
Oss =333 9,000
OMBCES FE3S23 ZAE 13,500
Os=3sY%H 13,500
Oz0PIt= HEZANE 8,000
308 AXIHHSOIA 67,830 72,870 N5,040
01 AIXHMBAMEEZ 67,830 72,870 A5,040
O==&0110 o= GBS 2 S35 22,500
O'2SEUAM" JISS3 17,550
OHet 8 K& 19,680
OZOHCIL HEIOIE St S5 &= 2LHie 2
NE 8,100
= S0=2d ARZXA 93,950 176,200 A82,250
307 S1Z2H0| & 85,850 167,200 81,350
02 QIZHEBAMAIEE X 6,300 70,700 64,400
O==23t0=0t2tdI0] 6,300
04 SIZ2ISHALAIHEE R 79,550 96,500 A 16,950
OAUE=2E L MA| 6,300
Os=2 & 5529 &It &M 8,100
OSHET QA Al Y53 9,000
OFEANIE W= 12,150
OMOIEr=H L MUI2EX] 20,000
OSEET ACIEH 24,000
308 XAXIHHSOIA 8,100 9,000 A900
01 AIXHAMBAEEXZ 8,100 9,000 2900
Os==g2i3l 8,100
=M S0 =nF A 54,400 58,500 A4,100
307 S1ZH0| & 49,000 52,500 A3,500
04 CI2ISHALAIHE B X 49,000 52,500 3,500
OZNSsH=nF 15,000
O=E=HEY 2301 20,000
O==0l=83 ZHuEHd 14,000
308 AXIHHSOIA 5,400 6,000 A600
01 AIXHMBAEEZ 5,400 6,000 AB600
OFF=2MEU0I=H 5,400
HE2SMs MEEE 64,890 72,100 N7,210
307 S1ZH0| & 57,600 72,100 14,500
04 SI2ISHALAIHEE X 57,600 72,100 A 14,500
OHYHMSsH =M E 24,300
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A= FaMsZE= 2N 2et0is A
3 2otz 2
&el: 23tils SEXE (St &)
A= 2A - 3. SR(3) - MIRAY - BES Off &K %E% HusZ
oan=3 177,523
O=cls4] 65,944
O=¢ 438,592
O2ZH| 19,000
401 AlIEHIZL 2 0HY| 45,000 45,000
01 Al&HI 45,000 45,000
OXIGHE HH==&HISAt 25,000
O=4 d=3At 20,000
405 THHF S 111,000 82,500 28,500
01 M ESFH S| 111,000 82,500 28,500
OXtaHF SHI(HERA, B8], E280I1) 111,000
SE2stds2201E 8,231,950 7,321,260 910,690
) 7,472,620
= 759,330
301 LENZ 8,231,950 7,321,260 910,690
J| 7,472,620
S 759,330
01 AISIEE A 63 (2 DEXTHE) 8,231,950 7,321,260 910,690
OSEg=2018d Ar 8,231,950
Pl 7,472,620
(= 759,330
SEEIHSZZ0IB2A MY XA=2H 2 53,537 72,800 19,263
308 KXIEHMSOIH 53,537 72,800 N19,263
183 S 2SO B & AET AL 53,537 72,800 N19,263
OSE230I18d M XE=2H 2 53,537
S22t 23 320,318 380,376 A60,058
307 212t01 & 320,318 380,376 260,058
05 QI2telet 2 320,318 380,376 260,058
Os==2s2 29 320,318
S0z 0I8 RS A 306,700 391,000 A\84,300
308 XXM SOIA 306,700 391,000 284,300
183 SISOt EAS AIS | 306,700 391,000 A84,300
OuRss =53 nsSXF MY 230,000
Otz &3t dxtz Xd 76,700
KNS 230 =SSR (HEAL) 1,983,600 2,204,000 A220,400
308 XXM SO0l 1,983,600 0 1,983,600
183 SV 2SS & HAET AL 1,983,600 0 1,983,600
Os=2stu=s4ds X 1,983,600
Col 2Eils gRIlel = 27,720 30,800 A3,080
308 XXM SOIA 27,720 30,800 A3,080
01 XN ELS 27,720 30,800 23,080
OHAIZAHME X2 18,000
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a3 2SR SN 2SS aAY
AN 2s0ls HY
tel: 23z SEXNE (SH9 H2)
4224 - B B9(E) - AIRAY - BES of v G o HIDE2
IEEEEEREENEETRE 9,720
23ISR 22T 376,524 365,123 11,401
307 212401 ™ 376,524 365,123 11,401
03 EIRICHIB 22X 376,524 365,123 11,401
OE=0E BAFTS 918 22| 168,213
OZ=0I0IE BARAS 218 2| 130,219
Oz=esacss 2aN 75,177
OE=2sisEY 23X 2,915
SOIE MFOSTH SENR(HEAR) 563,000 563,000
308 KIXIEHRISOIE 563,000 568,000
18 20 ZSUTHEHZ AR IEAIY| 563,000 563,000
O2e1Z 470 8N 563,000
BT JAZTONIC HIAEIE 200,000 140,000 60,000
308 KXIEHRISOI® 200,000 140,000 60,000
P CEREREES 200,000 140,000 60,000
OFLT JAZIONIC HIAEIE 200,000
N SB0E DRI 2H(HSAL) 580,000 1,280,200 AT00,200
308 KIXIEHRISO0IE 580,000 1,280,200 AT00,200
RERIECE T ENET 580,000 1,280,200 AT00,200
ONYEstS VI 75 580,000
24 OlSA XK 20,000 50,000 230,000
307 212401 20,000 50,000 230,000
04 SIFAAIR R 20,000 50,000 30,000
OA=E 230ISHA N8 20,000
2005 HENIHRAAAT Yz 4,015,000 0 4,015,000
2 1,500,000
= 2,515,000
308 Z012 4,015,000 0 4,015,000
2 1,500,000
= 2,515,000
01 212 4,015,000 0 4,015,000
02025 SSHIHZAAT I3 4,015,000
= 1,500,000
= 2,515,000
MOIFY| SB0IS DS KB (HeAre) 720,000 720,000
308 KIXIEHRIS01® 720,000 720,000
18 2| RSOICHBH A R EAI | 720,000 720,000
OZSE MOIF)| SHUSWINBAIL 720,000
23R4 BSRE 33,042, 153 31,601,650 1,440,503
2 17,544,211
| 1,735,781
= 13,762, 161
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A= FIHs2HE= 2N 1 23t0=A
M FoRe MSEE
o2 SuWIRstsa BE L JLXI=Hat EERCED
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
403 XX SHHSK=01A 3,060,000 3,930,000 A870,000
= 2,040,000
= 1,020,000
01 AtXIEtHAH22 £ 3,060,000 3,930,000 870,000
ONSAE E=FH| 3,060,000
= 2,040,000
& 1,020,000
HSAE LTAIAE 2= 387,000 162,000 225,000
= 258,000
& 129,000
403 XX SHHSKH=01A 387,000 162,000 225,000
= 258,000
= 129,000
01 MXIStH 22 £ 387,000 162,000 225,000
ONSAME HUAIAHE 2= 387,000
= 258,000
& 129,000
HSALE UTHAIAE SXE+ 412,800 448,500 A35,700
= 275,200
& 137,600
308 AXIEHMSOIN 412,800 448,500 A35,700
= 275,200
& 137,600
01 AUXIEHZAEXS 412,800 448,500 A35,700
ONSAME LTHAIAE SXE= 412,800
= 275,200
= 137,600
7.9.~19. &2 TIoH SPAIL(HSAIE) 886,348 0 886,348
= 886,348
403 XX SHHMSKH=01A 886,348 0 886,348
= 886,348
01 XEXIEHI A= 2 2 886,348 0 886,348
07.9.~19. SRTIH STFAL(HSAHE) 886,348
= 886,348
SWRIIAIE HE A 31,200 0 31,200
= 24,000
& 7,200
403 XSS K201 31,200 0 31,200
= 24,000
& 7,200
01 XX A =2 X 31,200 0 31,200
OWMZNICH EnEstHEy A 31,200
= 24,000




A3 s SN 2a0zaAD
IH: 2RRM HEPE
Gl ZR23RN BE L LK (ol 29
A2 2N - FHB . S(3) - HRAY - BE SR Ofl Ce = HnsZ
Ofl &k2h
| | & 7,200
SaRA BED X 2B 27,8%, 15 26,673,440 1,221,715
= 13,975,663
b 1,735,781
= 12,183,711
DINE 23 24 = 12,018,115 10,971,205 1,046,910
= 9,397,272
= 2,620,843
401 Al HIL ORI 1,480,000 110,000 1,370,000
= 740,000
= 740,000
01 Al&H] 1,442,000 110,000 1,332,000
OHF 7 220U 2422 1,442,000
= 721,000
= 721,000
02 22l 38,000 0 38,000
OBF 7 ESUATAD 242 38,000
= 19,000
& 19,000
403 XEXI S S XH20I & 10,538, 115 10,861,205 323,090
= 8,657,272
= 1,880,843
NBGENEES 10,538, 115 10,861,205 323,090
ORIIE 23l 24| 10,538, 115
= 8,657,272
= 1,880,843
S MHLX AL 75 76,500 539,928 463,423
ol 63,000
& 13,500
408 RXISHHERZ0IH 76,500 539,928 463,423
g 63,000
= 13,500
EGIENTEEES 76,500 539,928 463,423
O2IIXE 231 L& £x| 76,500
g 63,000
= 13,500
SIS 230 STAIL |zl X 164,050 183,020 ~23,970
b 135,100
= 28,950
308 RHXISHHISOIF 164,050 183,020 A23,970
p 135,100
= 28,950
NBPGENEINEESS 164,050 188,020 A23,970




A2 2eisaE= 2AN : 2ol AtE
Hu: 25QM HESHE
Hel: 3RS EE& Ot HE (Gt H2)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
O=2IKE 2 S HAIE SX2el X 164,050
J| 135,100
< 28,950
=S Ot&FEHIA X & Es 300,223 284,604 15,619
J| 219,141
& 81,082
308 AXIHHSOIA 300,223 284,604 15,619
J| 219,141
& 81,082
01 AIXSHHEAERZS 300,223 284,604 15,619
O3 otMAEY|IS Hixl & &2 300,223
J| 219,141
& 81,082
NIAHISA B&22] AlY 986, 165 178,500 807,665
= 812,136
= 174,029
403 XIXIHXMS K20 A 986, 165 178,500 807,665
= 812,136
& 174,029
01 ARS8 X 986, 165 178,500 807,665
OMNHISA B=2t2| Al 986, 165
= 812,136
& 174,029
2o SHIHEE AAE 22| 38,250 55,250 A 17,000
= 31,500
= 6,750
308 AXIHHSOIA 33,250 55,250 217,000
= 31,500
& 6,750
01 JIXISHMBABEZ 38,250 55,250 A 17,000
O3 STHEEZ AlAE 2H 22| 38,250
= 31,500
& 6,750
SE =HAA TOAIE ZH(MEAIY) 950,000 0 950,000
403 XIXISHHSAH=0|A 950,000 950,000
01 XEXISHH A E2E X 950,000 950,000
OFEH FHAMYM HOAIE =4 950,000
EXE S E43H]| 3,020,000 4,600,000 A 1,580,000
403 XIXIHHMS K20 A 3,020,000 4,600,000 1,580,000
01 AIXISHMAE2 X 3,020,000 4,600,000 A 1,580,000
OEXAE 23 23| 3,000,000
OS2t &EdIAS 20,000
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a3 FIMsZE= 2A 0 2s0=a
3 2oRs BSEE
Chel: 2atRAol BED OIX & EER=E)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
EXE 23 238 270,000 300,000 A30,000
403 X SHHMSAH=01H 270,000 300,000 A30,000
01 AXISHHA =22 & 270,000 300,000 30,000
OEXZEEZsHM 2=2E=HI 270,000
T SSAHE 2,410,000 2,629,872 N219,872
Jl 1,205,000
< 1,205,000
307 2I2to1 2,410,000 2,529,672 A119,672
) 1,205,000
< 1,205,000
02 LB HAHE L 2,410,000 2,529,672 A119,672
O23tH SSAH 2,410,000
pJ 1,205,000
< 1,205,000
SEEIN s 48 N 1,981,200 1,457,300 523,900
= 1,524,000
[ 457,200
403 AXIEHMSA=0l1d 1,981,200 1,457,300 523,900
= 1,524,000
< 457,200
01 AXIEHM A= E £ 1,981,200 1,457,300 523,900
OREEs d+us2t 28 K& 1,981,200
= 1,524,000
< 457,200
d=us2 45t A2 62,350 17,400 44,950
= 43,000
(= 19,350
308 AHXIEMSOIE 62,350 17,400 44,950
= 43,000
[ 19,350
01 AXHHNBHEES 62,350 17,400 44,950
OREEaMN d+=us2 3t ALY 62,350
= 43,000
< 19,350
AEXIE OlHI23H JIZ=XAL 44,550 50,000 A5,450
= 44,550
308 XXM SOIA 44,550 50,000 25,450
= 44,550
01 HXEHH B E2ES 44,550 50,000 25,450
OAFEXIE HHI22H JIZZA 44,550
= 44,550
Ol RE2et74 d=2]4 At 545,000 510,000 35,000




SA - BB BI(B) - MRAE - BaS A HIDEZ
= 345,000
=S 200,000
307 lztol & 110,000 0 110,000
= 55,000
== 55,000
02 2IZHBYAIHE X 110,000 0 110,000
Oblch Re2at74t 110,000
= 55,000
& 55,000
308 AFXIEHMSOIE 435,000 510,000 AT75,000
= 290,000
= 145,000
01 AXEH B2 LS 435,000 510,000 AT75,000
OllchH P27 & 435,000
= 290,000
s 145,000
FE2H SHAL X2 24,600 24,600
308 AXIHS0IA 24,600 24,600
01 HRHHBSEELS 24,600 24,600
OSE M SHEAL XA 24,600
FEESN dsXE 201,600 207,800 26,200
308 AFAIEHMSOIE 201,600 207,800 26,200
01 AXEHBEES 201,600 207,800 26,200
ORI 85X 201,600
ANE SEE3M SHAA 60,000 35,000 25,000
308 XtXIEMSOIE 60,000 356,000 25,000
1B SIS ELAAS 60,000 35,000 25,000
O=XE S SHA 2LIEHE 60,000
K& =23 EIIEAM 75,000 100,000 225,000
308 AXIHS0IA 75,000 100,000 A25,000
1B SISt oA 75,000 100,000 25,000
O=XNE 23 EIIXZA 75,000
LESAES ZA AL 40,000 50,000 10,000
308 AFAIEHMSOIE 40,000 50,000 10,000
01 AXENBSEES 40,000 50,000 10,000
OLEtSAL23H AL ALY 40,000
SS2MERE 2SR 644,000 844,000 200,000
306 £= 644,000 844,000 A200,000
01 &%= 644,000 844,000 /200,000
Os==ag1a = 644,000
M LA AF22lY 47,700 53,000 /5,300
201 eer23y| 47,700 53,000 A5,300




A= 2eMs2E= 2L 2s0ls oS
g 2oRs dsEE
Eel: 2eRAel BEDL O EE EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
01 AlR2telHl 47,700 53,000 5,300
O3 SBR=L A2l 47,700
HIAISA SN 100,000 100,000
308 AXIHS0IA 100,000 100,000
18 SIS0t HAS A 100,000 100,000
OHS - B AIAIFA S =& 100,000
Zoteat 2ejgot 150,000 150,000
308 ARISHMSOIE 150,000 150,000
13 SO 2 SOIUEHE &4 X 2AS A 150,000 150,000
OSE=T 2atrat 22l ot ¢ 150,000
SN2 = 616,500 0 616,500
= 211,000
< 405,500
308 ARISHMSOIE 616,500 0 616,500
= 211,000
< 405,500
01 XN BSEES 316,500 0 316,500
OFA2eH 52 |& L= AL A 316,500
= 211,000
< 105,500
13 S 2SS 4 2AS A I 300,000 0 300,000
OS2GA2etd JHIAE =X 300,000
SEEIN SLHL A 260,000 0 260,000
= 200,000
< 60,000
403 MXISHHS 201N 260,000 0 260,000
= 200,000
< 60,000
01 RXIEMA 22 £ 260,000 0 260,000
OFE23 S2HL At 260,000
= 200,000
< €0,000
SYSEX(ER) S 350,000 350,000 0
201 et ] 350,000 350,000
01 AlR2telHl 350,000 350,000
OSESEX (&) HEt 350,000
SEYERHA & S=lia] = 10,000 10,000 0
308 ARISMSOIE 10,000 10,000
01 XN B ELES 10,000 10,000
OS=SEE23HT st=U3 HAl 10,000
5 SEHT St=SA 22t 16,000 16,000 0
308 ARISHHSOIH 16,000 16,000 0
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a3 FIMsZE= N Sstolls A
3 2oRs BSEE
Chel: 2atRAol BED OIX & EER=E)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
01 XN B2 LS 16,000 16,000 0
Os= &7 =8N 16,000
5 SE2SAH 22 50,000 50,000
201 er23y| 50,000 50,000
01 AtR2t2l] 50,000 50,000
OS=E SEHISAH 22 50,000
ESAMNIIFEM L2t 50,000 50,000
201 LBl 50,000 50,000
01 At2t2l] 50,000 50,000
OESIA2EAM 2t 50,000
MY 2oRAAL 304,000 401,000 A97,000
= 190,000
< 114,000
308 AXIMS0IA 304,000 401,000 A97,000
= 190,000
[ 114,000
01 HAHHBSEELS 304,000 401,000 97,000
OuM 23tFAAL 304,000
= 190,000
< 114,000
SN SR BEAY 529,600 484,000 45,600
= 331,000
< 198,600
308 XXM SO0IH 529,600 484,000 45,600
= 331,000
& 198,600
01 XN BSELES 529,600 484,000 45,600
OZnMY 27 A 529,600
= 331,000
< 198,600
ZotRa OFH ALY 787,200 790,000 22,800
= 492,000
< 295,200
308 XtXIEMSO0IE 787,200 790,000 22,800
= 492,000
< 295,200
01 XN B2 LS 787,200 790,000 12,800
OZ3t=4t OFH ALY 787,200
= 492,000
[ 295,200
NEEIY 2SAY 187,200 203,000 15,800
= 117,000




A= Sd=s2E= 2AN : 2ol AtE
Hu: 2594 HESPE
Chel: 2atRAol BED OIX & EER=E)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
= 70,200
308 AXIHHSOIA 187,200 203,000 A 15,800
= 117,000
& 70,200
01 AIXSHHEAMNEXZS 187,200 203,000 A 15,800
OB s AY 187,200
= 117,000
& 70,200
HESLA 23R A S SAIY 38,400 27,200 11,200
= 24,000
= 14,400
308 AXIHHSOIA 33,400 27,200 11,200
= 24,000
o= 14,400
01 JXISHMBABEZ 38,400 27,200 11,200
O SLA 246 22 AL 38,400
= 24,000
& 14,400
NAHSA &2 T2 A 69,412 63,981 5,431
= 49,580
& 19,832
308 AXIHHSOIA 69,412 63,981 5,431
= 49,580
= 19,832
01 AIXHMBAEEZ 69,412 63,981 5,431
OMNHRA &8 TZ2 A 69,412
= 49,580
& 19,832
KNS RM DT EHSAIS 172,000 140,000 32,000
J| 110,000
& 62,000
307 21Zto| ™ 124,000 0 124,000
J| 62,000
c 62,000
02 QIZFBAMAIIE X 124,000 0 124,000
OXNY2g7otuE S4SAIS 124,000
J| 62,000
= 62,000
308 AXIHHMSOIA 48,000 140,000 292,000
J| 48,000
01 AIXHMBANEEZ 48,000 140,000 292,000
OXESRANE SHIIAS 48,000
J| 48,000
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a3 FIMsZE= Zstoll=a S0
3 2oRs BSEE
Chel: 2atRAol BED OIX & EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
A s QIESAL X2 3,540 3,400 140
2l 3,540
308 XXM SOIA 3,540 3,400 140
) 3,540
01 XN B2 LS 3,540 3,400 140
OXtA =& BIESHAL 3,540
Jl 3,540
SERY SSRLAIY 55,000 85,000 A30,000
308 AXIHSOIA 55,000 65,000 10,000
01 XN BSELES 55,000 65,000 10,000
ORgReg 2a7LAY 55,000
HEMZ MAD|BAIL XIR 187,000 0 187,000
= 163,625
< 23,375
403 TR SIS AH=01 ™ 187,000 0 187,000
= 163,625
< 23,375
01 AR A =2 £ 187,000 0 187,000
ONEMZ MAD|EAIE X 187,000
= 163,625
< 23,375
YA HH(230= A 95,059 101,423 16,364
=& 95,059 101,423 26,364
Jl=&H] 95,059 101,423 16,364
201 LEeH2 | 24,769 28,723 N3,954
01 AtR2t2lt] 24,769 28,723 A3,954
OJlE=3Hl 10,106
OJl2=¢gHl 14,663
202 Ot 47,430 49,300 21,870
01 2oL 47,430 49,300 21,870
OJ1= 04l 47,430
203 BR=&H] 22,860 23,400 2540
01 D122 ARFA| 6,600 6,600 0
O=2ztH=s22=% 6,600
M FA2HLRFEI 16,260 16,800 2540
O2il=aS 1t 4,860
OM=a S 3,600
Ozt 4,200
OA==23tt 3,600
eSS (230D 218,000 110,000 108,000
WERHAHXI=E 218,000 110,000 108,000
WRHAHXI= 218,000 110,000 108,000
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D 2EEdE=

M Hees(2ao=4agn)

cHRs LI AKX

=
=2

A2 2N BB O9(3H) - HRAY - BES Ofl by A =2
705 Oll=2 32| 24E 218,000 110,000 108,000
04 Al - SXISINLD| S0 == 0| AHAHE 218,000 110,000 108,000
O==Z AR 0|™A=F 70,000
OME tl=o 8 AKX 40,000
O2E=I |G SHMEH HB(US) 108,000
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H & Ol & AF S E Al A
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Hlw

26,576,375

26,571,989

21,610
A500
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A610
2610
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A500
A500

134,379
30,335

21,670

8,665

19,383
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114,946
114,946

A30,285
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150,000
150,000
A 150,000

228,000

HMEE
Ofl &k2h

80, 154,221

80,076,242

19,100
5,000
5,000
6,100
6,100

17,308,479

8,000
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233,670
173,290
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61,082
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A H=sdEH

A2 2SR
Hu: om0l HSAE
el MsdE (SH9 H2)
AR RA - ZB - E9I(E) - HRMY - BYS Ol &t G o B2
307 QI2HOl A 18,000 40,000 222,000
04 QIZFHAIAIE E X 18,000 40,000 222,000
O=MAEZ=NRX|A 18,000
T dssg XN 10,881,764 10,242,742 639,022
307 212t01 & 10,881,764 10,242,742 639,022
02 QIRHEAAIHE XL 8,525,603 8,080, 181 445,422
ONZ2HSAEA 8,482,403
OHE g2 N2AY 27,000
OHZHESXN A S22 HRAS 16,200
03 QIRIEXHE2EHIB X 2,356, 161 2,162,561 193,600
OE=H=3 ARH2E 2,356,161
SIASIHHM HEXZ 337,200 303,480 33,720
307 212t01 & 337,200 303,480 33,720
02 QIHB AT E R 337,200 303,480 33,720
O2ASIHH HEXH 337,200
SOIXMA Oz XA 250,000 250,000 0
308 AXIHMSO0I& 250,000 250,000
01 AXIEHBAEES 250,000 250,000
O=2HA 29| X 250,000
HdEM=0HE K& 348,000 292,000 56,000
307 QI2H0| A 117,000 107,000 10,000
04 QIZFHAIAIE E X 117,000 107,000 10,000
ODIAHE= Hd2s 9,000
OAlZUES M0tet=HE 63,000
OZEE XA HAAL RS 30,000
Odt=s2l XA 15,000
308 RXISHMSOIH 231,000 185,000 46,000
01 AXIEH B LAERS 231,000 185,000 46,000
O&E3J| Hd=2REU3 120,000
OSE=EZXA S8z 8= HI3E
CHal 22,500
02024 Tte|2d e OtAIORAIOLLIOF Ofl &1 CH
= 88,500
ESFFEZEAH 2R 2,000,000 2,000,000 0
308 RXISHMSOIH 2,000,000 2,000,000
01 AXIEHELAEXS 2,000,000 2,000,000
OSSFFLZELAH 2 2,000,000
MEHSLE 8,845,019 8,013,971 831,048
| 6,485,803
= 2,359,216
MEH=E AH 1,800 2,000 A200
202 (4t 1,800 2,000 A200
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A= 2stMs2E= A HSAHEDL
g AsH0 H=HE
ool dENSAE (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SmoETAreER e T == B Ofl &k ==
01 AL 1,800 2,000 2200
OdENS =20l 1,800
U8 MBI X IR (AlZ) 1,184,481 1,186,177 28,304
Pl 1,157,841
= 26,640
308 RXIHMSOIH 1,184,481 1,156,177 28,304
Il 1,157,841
S 26,640
01 AIXSHHBLELS 1,184,481 1,156,177 28,304
OLtHEHFIZ I HHX 1,184,481
J| 1,157,841
= 26,640
Hzd degs N MD) 1,008,410 1,046,807 A38,397
| 985,730
= 22,680
308 XXIHMSOIA 1,008,410 1,046,807 N\38,397
Il 985,730
= 22,680
01 AXSHHELEEXS 1,008,410 1,046,807 A38,397
OnZ24 MEHSX A HHX 1,008,410
Il 985,730
S 22,680
MEHSNEN ACEBSEES 11,234 11,280 A6
| 11,234
308 KXIEHMSOIS 11,234 11,280 N6
J| 11,234
01 XN ELS 11,234 11,280 YaV:iS)
Olkgs 282 11,234
Il 1,234
oz Hsgs N 68,916 68,916 0
| 22,470
= 46,446
307 212t01 & 68,916 68,916 0
Il 22,470
= 46,446
04 QIZHHALAIH 2 & 68,916 68,916 0
OSSHSMMEN=HE 68,916
| 22,470
S 46,446
ATXAN 0|2A X 4,193,220 3,063,009 1,130,211
J| 3,453,240
S 739,980
308 AXIHMSOIA 4,193,220 3,063,009 1,130,211
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esHs22=
A=Hol HRXES
METSEE

A H=sdEH

2. 24 - B2 O(B) - HIBAIY - BAR Ofl b G o HIR=2
307 212+01 A 100,000 200,000 100,000
04 QUZHHAIAIE E X 100,000 200,000 A100,000
odiol2nta2et &Mmst bl
A gl 100,000
308 AXIHMSOI& 21,000 45,000 224,000
01 XIXISHHBAE LS 21,000 45,000 A24,000
SEOIA MIAXEA TS 21,000
Al K& 39,740 44,160 A4,420
308 AXIEHMSOIN 39,740 44,160 AN4,420
01 XX SHNBAEERZ 39,740 44,160 AN4,420
OHMIHE A3 26,240
OHME SHEAHZ 13,500
MEHSSEE VS 10,800 0 10,800
307 212+01™ 10,800 10,800
02 QItBAAIHE R 10,800 10,800
QuasEE TVE A 10,800
=5 TUsatnA 10,000 13,500 A3,500
307 2I2+0l ™ 10,000 13,500 A3,500
04 QIZIHAIAISE E X 10,000 13,500 A3,500
O==ESatna 10,000
OIEFI|IUE K& 4,000 4,000
307 212+01 A 4,000 4,000
04 QUZHHAIAIE E X 4,000 4,000
OSEET UEFEI|UE 4,000
AW P==F3 WRU3E 16,200 18,000 21,800
308 AXIHMSOIH 16,200 18,000 A1,800
01 AIXISHNHBAEERS 16,200 18,000 21,800
O=H &= - F44E L=235 WRUH3 16,200
=100 eIBHH 29 855,283 960,000 A104,712
| 855,288
308 AXIHMSOIH 855,288 960,000 A104,712
J| 855,288
01 IXSHNHBLEERS 855,288 960,000 A104,712
O=2M=E100 21 SH 855,288
| 855,283
Htstisl X& 18,000 46,000 A28,000
307 QIZ2t01 A 9,000 36,000 A27,000
04 QIZIHAIAIE B X 9,000 36,000 A27,000
OZXIA B3 9,000
308 AHXIHM SO & 9,000 10,000 21,000
01 AXSHHBLERS 9,000 10,000 A1,000
OHZYE HISEA 9,000




A= ESHsAER 2A  HSTED
¥ ASH HMsdE
ool dENSAE (St &)
A= - BA -3 . HA(3H) - NRAY - B Y Off &4 %E% BlunsZ
HefeIM AZEHE DA 2 (MEALY) 70,000 70,000
308 XHXIEMSOIH 70,000 70,000
01 HRHH B E2ES 70,000 70,000
Ot AZXHE DA 70,000
SES-YNMFUHR 150,000 140,000 10,000
307 212+01H 110,000 100,000 10,000
04 QIHHAIAIH 2 £ 110,000 100,000 10,000
Os¥=szdeEd=Ual 110,000
308 AXIHMSO0IA 40,000 40,000
01 XN B EES 40,000 40,000
Os¥=zdegd=0al 40,000
2= K& 10,000 15,000 25,000
308 XXM SOIH 10,000 15,000 25,000
01 MXSHHBAEERS 10,000 15,000 5,000
ONd 3SEt 8= 572038 10,000
HLANE X 20,000 10,000 10,000
307 2Izto|d 20,000 10,000 10,000
04 QIHHAMAIH 2 £ 20,000 10,000 10,000
OSSE S AIAILIHEILIANE 10,000
OZ=dI0I3mAH HEHMFHILIACHS 10,000
cloI AL 20102 130,000 135,000 25,000
307 lztol & 30,000 90,000 260,000
04 CIISHAAIH B 30,000 90,000 60,000
OdloIIAE 2o1t3 30,000
308 AHXIEMSOIE 100,000 45,000 55,000
01 HRHHBSEES 100,000 45,000 55,000
OF [V E=VN=a== P k-] 100,000
M= E 8,068,250 7,108,975 959,275
Jl 1,434,098
= 6,634,152
M= MEAE 6,005,726 5,361,684 644,042
307 212t01& 6,005,726 5,361,684 644,042
02 QIIHAANSEE R 4,763,595 4,143,933 619,662
OZOMHAMF IS A 3,119,901
OFMHAUAZ=AAE A 1,430,694
O+ SEX 213,000
03 SItHNEE 2 SHI2x 1,002,131 1,115,251 N23,120
OSE=ZZMUMFE ARXH23HI 1,092,131
04 QIZHHAIAIH E X 150,000 102,500 47,500
OZXIAH & =Z0HI M FTH 2 150,000
oI =RIM=Mzl K& 183,000 100,000 83,000
J| 23,000
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A H=sdEH

(S &)
AT 2A B BR(E) - HRAY - BES 0 &t A blnE2

= 160,000

307 gI2Hol M 183,000 100,000 83,000
| 23,000
& 160,000

04 QIZHHAIAIE E X 183,000 100,000 83,000
OO ELIXIZUS 183,000
| 23,000
& 160,000

ZONCI MEHI KX &= KX (MK 3] ) 62,604 91,584 A28,980
| 31,302
= 31,302

307 QI2HO1 M 62,604 91,584 228,980
| 31,302
= 31,302

02 QItBAAIHE R 62,604 91,584 228,980
OZOHI XS K = XHH X 62,604
| 31,302
& 31,302

HOHOI ME K| = X = KHH X (Al Z2) 962,664 812,044 150,620
| 683,644
& 274,020

308 RXISHMSOIH 962,664 812,044 150,620
| 688,644
= 274,020

01 IXSHHBAEES 962,664 812,044 150,620
O OHI MEX SR =Xt BHXIKIZ 962,664
| 688,644
& 274,020

HOfIAZT=AH0ISRHKXIR (AlIZ2) 839,256 510,663 328,593
| 691,152
& 148,104

308 AHXIHMSOIH 839,256 510,663 328,593
| 691,152
= 148,104

01 AXIEH B LAEXS 839,256 510,663 328,593
OFoHel A=A 012&H K& 839,256
| 691,152
= 148,104

0 & - 7O 233 15,000 8,000 7,000

307 gIzHol ™ 15,000 8,000 7,000

04 QIZHHAIAIE E X 15,000 8,000 7,000
O& & - R0t 253 15,000
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A= FIHs2HE= A 1 MSHED
M A=Xol HSAE
&2l MSsAE B3 (&9 M)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
HEAE &= 18,336,8%4 47,256,317 228,919,423
= 117,5%6
s 1,200,000
& 17,019,298
SOXHE AlE XIEAF 2,750,000 2,750,000
403 XX SHHSKH=01A 2,750,000 2,750,000
01 XX SN A= E X 2,750,000 2,750,000
O2025d SRIMAE AlE X 2,750,000
AL 222 At 60,000 285,000 A225,000
403 MRS HMSAHE0IA 60,000 285,000 A225,000
01 XIXISH =2 X 60,000 285,000 A225,000
ONSAE 2ISLH At 60,000
HSTEAIE XIS (ME)(HEA) 12,116,000 19,038,500 26,922,500
403 XIS MS K01 12,116,000 19,038,500 26,922,500
01 RXISH A2 E X 12,116,000 19,038,500 26,922,500
OHMSTSAE XA (42) 12,116,000
2ElMEs ARE X2 AKX 2,735,000 6,360,000 23,625,000
s 1,200,000
= 1,535,000
403 XX SHHMSK=01A 2,735,000 6,360,000 23,625,000
= 1,200,000
& 1,535,000
01 AtXIEtHAH22 £ 2,735,000 6,360,000 A3,625,000
O2gdEd A2 s A2 2,735,000
s 1,200,000
& 1,535,000
S=EM=zl2 2l 235,950 220,000 15,950
201 B2 AY| 9,000 10,000 A1,000
02 2324l 9,000 10,000 21,000
OE=EN=s2 HHEH 9,000
402 QI2ERH=0I1 N 226,950 210,000 16,950
03 QI2HREFAL ] 226,950 210,000 16,950
OS=EM=SI2 A2 L 22| 226,950
SSALIXRMEH 22 322,348 370,217 AA47,869
402 I2ER=01H 322,348 200,000 122,348
03 It AL I 322,348 0 322,348
OS=AEL=MEH 22| 322,348
7.9.~7.19. SRTIH SFAI(HMSAIL) 117,5%6 0 117,5%6
= 117,5%6
403 XX SHMSAH=E01A 117,5% 0 117,5%
= 117,5%6
01 XX SN AG=E X 117,5% 0 117,5%




a3 essTE= SA  HSHED
& ASHOl M=
ol HISAIE &5 (o9 =)
AR SN - B . 09 (3H) - NRAY - B2 Ofl bt aET MimE=EY
d= - FA - 35 = g . 0 &t =
07.9.~19. S20loll 2EPAL (MSAIE) 117,596
= 117,596
2HHMSHEAI X 20,362,100 388,500 19,973,600
J| 8,951,800
= 11,410,300
=2MR0HE AIY X 423,000 388,500 34,500
307 21Z2t0| ™ 423,000 388,500 34,500
02 QIZFBAMAIIE X 423,000 388,500 34,500
O=HMS0AEH(IOMAIYE XK (CHS) 423,000
SHAIMIAHICHSH-E DTS =& 19,939, 100 0 19,939, 100
J| 8,951,800
& 10,987,300
201 LEr2AH| 4,000 4,000
01 AtR2t2lbl 4,000 4,000
OO0lHMHHEAED U3 =& AFR2t2|H] 4,000
306 =2 515,000 515,000
01 &= 515,000 515,000
OvAIMAICHEZD e =&P]E sH= 515,000
403 XXISHISKH=0| A 19,420,100 0 19,420,100
J| 8,951,800
= 10,468,300
01 RIXISH 22 R 19,420,100 0 19,420,100
OOBHHIMIHICHEE D THE] MSsAIE 2 19,420, 100
J| 8,951,800
& 10,468,300
HYESAAH(MSEED) 39,593 43,979 N4,386
=34 39,593 43,979 N4 386
J|l2&hl 39,593 43,979 N4,386
201 LBr2AH| 13,583 15,079 A 1,49
01 AtR22t2|H| 13,583 15,079 N 1,496
(@PIR=Et=s] 5,542
(OPIE==1="1:] 8,041
202 044| 26,010 28,900 N2,890
01 2L Y| 26,010 28,900 A2,890
OJ120H| 26,010
NLES(HMSIED) 34,000 34,000 0
== DNES 34,000 34,000 0
LHEAH KIS 34,000 34,000 0
705 Oll=2 32 2AE 34,000 34,000 0
04 Al - SXSIHLI |20 =20 Khat=t 34,000 34,000 0
Oz M= A (2020) 34,000
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SE2E= A 2
DROPI 2FAHSS
Crefsh 22008 &S EEREE)
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
18 SI[2S0tet 4 A AS A 20,000 0 20,000
O&= 222ds 2= 32 20,000
Ag2d LS E52 28 95,000 0 95,000
201 er23y| 25,000 0 25,000
01 AtR2t2|HI 25,000 0 25,000
OXg2& eHHLs 52 =24 25,000
308 AtXIEHMSOIE 70,000 0 70,000
07 XA EE2 70,000 0 70,000
OXg2d SHHiLEs &52 28 263 70,000
e 222 2435 0BHE 40,000 45,000 25,000
201 er2 3| 40,000 45,000 25,000
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